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[ (A) SR (AR R E )

THEX Sy - TAE - FRAI - f50 Hi i3 TREAL K & A HLA & " WE (GBS
8 FEAHERE
[ HEREN]
= 1 17, 335, 060
FRE T
= 1 1,001, 200
EHBRET (ZAH)
= 1 527, 000
FREL (A) HWERE (F 0 ROVEBG#ER
m2 3, 700 130 481, 000
LU BR S
t 4 11, 500 46, 000
JEHBRE T (IHH)
= 1 298, 100
FREL (A) MR E (F ) ROEBG#ER
m2 2,100 131 275, 100
LU BR S
t 2 11, 500 23, 000
JEFEBRE (FE )
= 1 176, 100
FREL (A) MR E (F ) ROVEBG#ER
m2 1, 300 130 169, 000
VU BR S
t 1 7,100 7,100
BhE T
= 1 13, 364, 900
BhE T
= 1 13, 364, 900
BiEy-1agk (A) SR (FEH) V) VPETHEME t=3
Omm
m2 1,180 1, 700 2,006, 000
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THEX Sy - TAE - FRAI - f50 Hi i3 TREAL K & A HLA & " WE (GBS
BhEy-pE (B) LTS (@& ) V¥A7VPETREHE =3
Omm
m2 6,010 1, 890 11, 358, 900
% T
X 1 2, 968, 960
A BT
X 1 2, 968, 960
A IE A E A B A IE T E G B A
X 1 536, 200
A IE A E A B AT E i BB
X 1 2,432, 760
HEEE TR
X 1 17, 335, 060
S %
X 1 2,824, 320
S I
X 1 274, 320
e i A P
X 1 52, 920
B i Ex B R - ERE
X 1 52, 920
BGEREESCER (E5 1)
X 1 221, 400
iR (EiE L)
= 1 2, 550, 000
bl T
X 1 20, 159, 380
By Bty
= 1 9, 780, 000
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T8 5
X 1 31, 689, 080
— A B
X 1 4,410, 920
T3l As
= 1 36, 100, 000
EEETREEE ]
= 1 3,610, 000
THEEE
= 1 39, 710, 000
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THEX Sy - TAE - FRAI - f50 Hi i3 TREAL K & A HLA " WE (GBS
B FEHMERR
[ AR IN]
= 1 751, 700
FRE T
X 1 41, 700
JE FEBRE T QR TH)
X 1 41, 700
FREL (A) HWERE (F 0 ROVEBG#ER
m2 300 130 39, 000
LU BR S
t 0. ¢ 9, 000 2,700
BhE T
X 1 544, 000
BhE T
X 1 544, 000
BiEy-1agk (A) SETE R (BEHD VYA VPETHEAE t=3.
Omm
m2 320 1, 700 544, 000
% T
X 1 166, 000
A BT
X 1 166, 000
A1 E i B A E i BB
X 1 166, 000
HEEE TR
= 1 751, 700
S %
X 1 268, 000
i R
=X 1 18, 000
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THEX Sy - TAE - FRAI - f50 Hi i3 TREAL K & A HLA " WE (GBS
BGEREESCER (E5 1)
X 1 18, 000
iR (EiE L)
= 1 250, 000
ol T
X 1 1,019, 700
By By
= 1 730, 000
T8 5
X 1 1, 749, 700
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